/ E.W. Girt

Corner Column
> O O (Shape Varies)
/ S.W. Girt
2{
i O O
=
O @
A
1/4
Sheeting Clip

(CL-5) at 8” Girts
(CL-25) at 10" Girts
(CL-26) at 12" Girts

Note: All connection bolts are 1/2" x 1 1/4” machine bolts unless noted.

Section at "C” Corner Column

DRAWING NO.

Flush Endwall

SD21




/ E.W. Girt

— Endwall Clip
CL-100
Corner Column
o O O (Shape Varies)
3 &
oD /— S.W. Girt
3
o O O
- Sidewall Clip
CL-103
O @
\
1/4
Sheeting Clip

(CL-5) at 8” Girts
(CL-25) at 10" Girts
(CL-26) at 12" Girts

ERECTOR NOTE: IF CLIP BOXES ON BUILDING ELEVATION VIEW(S) ARE BELOW THE

INTENDED GIRT LINE, THE CLIP(S) IN REFERENCE ARE TOED DOWN.
IF ABOVE THE GIRT LINE, THEN TOED UP.

Note: All connection bolts are 1/2" x 1 1/4” machine bolts unless noted.

DRAWING NO.

Section at "C Corner Column SD24

Flush Endwall




/ E.W. Girt

O O
Corner Column
« (Shape Varies)
S.W. Girt
% /
~J
N
- O O
=
O @
A
1/4
Sheeting Clip

(CL-5) at 8" Girts
(CL-25) at 10" Girts
(CL-26) at 12" Girts

Note: All connection bolts are 1/2" x 1 1/4” machine bolts unless noted.

DRAWING NO
Section at Hot Rolled Corner Column

Flush Endwall SD25




/ EW. Girt

Corner Column
(Shape Varies)

* See Table
o O
O 5 S.W. Girt
i i
™ O O O O
=

N O O O O
1/4
Sheeting Clip”&
(CL-5) at 8" Girts
(CL-25) at 10" Girts
(CL-26) at 12" Girts
CLIP TABLE
EW GIRT | SW GIRT | CLIP
8" 8" CL-64
8" 10 CL-65
10" 8" CL—-66
10 10 CL-67

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

Section at “C” Corner Column

By—Pass Endwall

DRAWING NO.

5026




E.W. Girt
Pre—drill
Member Screw
_ﬁ\\ O O
{ l | Corner Column
= e
S.W. Girt
4" Zee/
O O
Z
O o

1/4” \Sheetin Cli

(CL-5) at 8" Girts
(CL-25) at 10" Girts
(CL-26) at 12" Girts

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

Section at Hot Rolled Corner Column
Flush Endwall — By—Pass Sidewall

DRAWING NO.

5030




Girt

Pre—drill

=¢

<

Member Screw FL : .

\ Column
) ZeeX\j»

>Too

Girt

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

Section at Hot Rolled Corner Column
Flush Endwall — Open By—Pass Sidewall

DRAWING NO

SD52




E.W. Girt

1/4”
O
O

Corner Column

S.W. Girt

- O
4" Zee F

Pre—drill /
Member Screw

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

Section at Hot Rolled Corner Column
Flush Endwall — Flush Sidewall

DRAWING NO

5035




/7 E.W. Girt

I\

A i
[ bimi
=<'_ i / U
Pre—dril /
Corner Column

Member Screw )
4" Jee

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

DRAWING NO.

Section at Hot Rolled Corner Column SD34
Flush Endwall — Flush Sidewall — Open Sidewall




EW. Girt GL
_\\\ VA //r—-Mom Frame Column
See Table — Cj Cj
T N0 O /r—fiW.GWt
@)
?heeﬂgg Clip o]l O | Cj\
CL-5) at 8" Girts
(CL-25) ot 10” Girts\ | | T~
(CL-26) at 12" Girts O O | O o |
1/4"
CLIP TABLE
SW GRT | EW. GRT| cLP
g 8" CL—64
g 107 CL—65
107 8" CL—66
10" 10" CL—67

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

Section at MF Corner Column

Flush

Endwall

DRAWING NO.

SD36




11_2”

CL.

1/4

/7 S.W. Girt

/7 Main Frame Column

S

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

Section at Rigid Frame Corner Column

Flush Endwall — Open By—Pass Sidewall

DRAWING NO.

SDS7/




See Table

EW. Girt /

1/4"
1

C.L.
M /7Moin Frame Column
O o 6]
o O Uil
\—See Table
GIRT DEPTH CLIP DIMENSION
8" CL-61 1'-2"
10” CL-62 1'-2"
1"-0" CL-61 1'—47

Note: All connection bolts are 1/2" x 1 1/4” machine bolts unless noted.

Section at MF Corner Column

DRAWING NO.

Flush Endwall — Open By—Pass Sidewall

5038




See Table

Main Frame Column

.

CL.
E.W. Girt/
See Table /7 SW. Girt
o o o1 O
ail O O o0 O
4”
Sheeting Clip
(CL=5) at 8" Girts
(CL—25) at 10" Girts
(CL—26) at 12" Girts
GIRT DEPTH CLIP DIMENSION
g CL-61 1'-2"
10 CL-62 1'-2"
1'-0" CL-61 =

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

Section at MF Corner Column

By—Pass Endwall — Flush Sidewall

DRAWING NO.

5D39




11 3/4”

/ EW. Girt

WF Corner Column
(Shape Varies)

O O O O

O O O O

1/4

(CL-26) at 12” Girts

\
1/4"
Sheeting Clip"& \
(CL-5) at 8" Girts
(CL-25) at 10" Girts

See Table

CLIP TABLE
EW GIRT | SW GIRT | CLIP
8" 8" CL-64
8" 10 CL-65
10" 8" CL—66
10 10 CL-67

S.W. Girt

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

Section at W.F. Corner Column
By—Pass Endwall

DRAWING NO.

5042




/ Girt

Door Jamb/
Endwall Column
4 O O (Shape May Vary)
)
:\{I— \;
O O
Girt

3

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

DRAWING NO

Girt to "C” Door Jamb/Endwall Column Connection| S[)43




/ Girt
— Clip
CL-100
Door Jamb/
Endwall Column
5, O O W (Shape May Vary)
<]
3 i imi
D Vi)
.,
O O N clip
CL-103

ERECTOR NOTE: IF CLIP BOXES ON BUILDING ELEVATION VIEW(S) ARE BELOW THE
INTENDED GIRT LINE, THE CLIP(S) IN REFERENCE ARE TOED DOWN.
IF ABOVE THE GIRT LINE, THEN TOED UP.

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

DRAWING NO

Girt to "C” Door Jamb/Endwall Column Connection| S[)43




/ E.W. Girt

Endwall Column

E.W. Girt

3

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

DRAWING NO.

Girt to Hot Rolled Endwall Column Connection SD44




Endwall Rofter7

Roof Purlin

CL-109_

(4)1/2°8 X 11/4”

s

M. Bolts RCLW

2 1/2"]

| O o |—

\ Endwall Rafter

Endwall Girt to Hot Rolled Rafter

DRAWING NO.

5045




} \ > \
3 \ <
O O /
2” 2”
Main Frame
Rafter
See Table
g /
E.W. Girt
e
x o /
Q 4-" /

Girt Clip
. (See Table)
Main Frame

Rafter
GIRT DEPTH CLIP DIMENSION
8" CL—107 1"-2"
10” CL—108 1"-2"
1"-Q" CL-107 14"

All Bolts are 1/2" x 1 1/4” A307 Bolt

DRAWING NO.

Endwall Girt to M.F. Rafter SD46




Roof Purlin

Endwall Rafter

L

m

ndwall Girt
2) 1/2”(25 X1 1/4"

—~

(2) 1/2°8 X 1 1/4”

Endwall Girt
M. Bolts ;

\ Endwall Rafter

GW-301

DRAWING NO

Girt to Rafter SD46




Main Frame
Interior Column

Flange Brace
®{ (If Req'd)

/7 S.W. Girt

O O

O O

4” 4-"

CIL. Interior Frame

Bay Dimension Bay Dimension

Note: All connection bolts are 1/2" x 1 1/4” machine bolts unless noted.

DRAWING NO.
Section at Interior MF Column SD49

Flush Sidewall




Flange Brace

o o
Additional T lole T
Flange Brace —
(As Reqd)~ Flange Brace 3 3/4” | 3 3/4
§  0-71/2" Lap
(4 Bolts Total)
o lo) o w
~ o o o <
| 11 S/ 1 3/
| ; |
2-31/2" Lap -
(6 Bolts Total) o] Flange Brace
4-31/2" LAP

(6 BOLTS TOTAL)

=~
| 213/ 2-13/4 |
{ |
4
6'-31/2" Lap S
Flange Brace
(8 Bolts Total)
— o o o~ o
31 3/4 3-13/4" |
{ |
b

Note: All connection bolts are 1/2" x 1 1/4” machine bolts unless noted.

Interior Bay Girt Framing

DRAWING NO.

5D




Additional

Flange Brace Flange Brace
(As Req'd)
o |l © \@
T O O
2)_4"

(4 Bolts Total)

Note: All connection bolts are 1/2" x 1 1/4” machine bolts unless noted.

Simple Span Girt Framing

DRAWING NO.

5052




0-7 1/2" Lap o ©
X \
(4 Bolts Total) I =
3 3/4 | 33/4"
Flange Brace E%
(As Req'd)  \ E g
+ o (¢} o T
-1 3/4 {1—1 S 312 Lap
¥ (6 Bolts Total)
4-31/2" LAP —
(6 BOLTS TOTAL)
(0] o o
e (o] o (o] T
21 3/4" 2-13/8 |
/ |
4
6'-31/2" Lap ]
(8 Bolts Total)
~ Z s
| 3134 31 3/4"
| /
¥
Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.
DRAWING NO.

"C” Endwall Column to By-Pass Girt 5033

Revised On: 7/10/17




CL-103 Clip
NOTE:
All Bolts are 1/2" x 1 1/4
A307 M. Bolts \ l
N
o] 9
2
o | 4
l
\Door Jamb
Wall Girt
CL-103
L~
ami ami = _(T) /
- gy
© @© |
© / Q

——1/2" x 1" Fin Necks /

ERECTOR NOTE: IF CLIP BOXES ON BUILDING ELEVATION VIEW(S) ARE BELOW THE

INTENDED GIRT LINE, THE CLIP(S) IN REFERENCE ARE TOED DOWN.
IF ABOVE THE GIRT LINE, THEN TOED UP.

THE DRAWINGS ABOVE ARE TOED DOWN FOR REFERENCE.

DRAWING NO.

5087/

Girt to Jamb (Bolted Clips)




NOTE: ) ) ——— Steel Line
All Bolts are 1/2 X 1 1/4
A307 Mach. Bolts
1 1
| im imy
g \
CL—103
|
AN A\ Jamb
/
- 1 1/2"
. I .
< =
P
N \—
] j lee Girt
{ CL—103
—- Jamb

\/\

ERECTOR NOTE: IF CLIP BOXES ON BUILDING ELEVATION VIEW(S) ARE LEFT OF THE
INTENDED JAMB LINE, THE CLIP(S) IN REFERENCE ARE TOED LEFT.
IF RIGHT OF THE JAMB LINE, THEN TOED RIGHT.
THE DRAWINGS ABOVE ARE TOED LEFT FOR REFERENCE.

DRAWING NO.

Jamb to Girt SD93




NOTE: ) |~ Steel Line
All Bolts are 1/2" x 1 1/4
A307 Mach. Bolts

(D (LD

= \\\\¥__
CL-9
/Jomb

1 7/8"
. 0 ~
<<
T =<
- \_
Header Zee Girt
CL-9
Jamb

DRAWING NO.

Jamb to Header Girt SD94




NOTE:
All Bolts are 1/2"¢ x

A307 M. Bolts (UN No’lejj)/dr A
1/2" x 1" Fin Necks
i
N il i 1@y
- / L
- ii |5 1@,

|
Wall Girt —/ \Door Jamb \Heoder

$ / CL-100
_ H/
S H—Ep e
CL-103 ﬁf N \
Header
~ o \ 1/2" x 1" Fin Necks
Lg_] |
d]/i_\
4/ :Q
Wall Girt “ B

ERECTOR NOTE: IF CLIP BOXES ON BUILDING ELEVATION VIEW(S) ARE BELOW THE

INTENDED GIRT LINE, THE CLIP(S) IN REFERENCE ARE TOED DOWN.
IF ABOVE THE GIRT LINE, THEN TOED UP.

THE DRAWINGS ABOVE ARE TOED DOWN FOR REFERENCE.

DRAWING NO

50995

Girt/Header to Jamb




NOTE:
All Bolts are 1/2" x 1 1/4"
A307 M. Bolts [
&
-
&
|
\Door Jamb
Wall Girt
1| am - 0T
P h Iwy
DRAWING NO.
Girt to Jamb SD96




—,— Header Cee Girt

0 _,/—1/2” X ,]n
A307 Bolts

CL-100

A
P
A ‘ Jamb
@ .0
/" /
/\/

1/4"

\ N\

1/2” X 1” Fiﬂ NeCk%

'] 1/2;;

F Header Cee Girt

=

¥1/2” X 1,,

jﬂ A307 Bolts
/ CL—100
1/2" x 1" Fin Neck

Jamb

DRAWING NO.
Jamb to Header Girt

SD122




(2) #12 x 11/2"

TEK 5 Screws CL-85

\

CL—-85 %G

. JUiE Flange Braces Attached at
Vapor Barrier to be Locations Designated on
Placed Between Clip Rigid Frame Cross Sections.

and Girt /Purlin

+Clip Table
8" Girt/Purlin | CL-86
10" Girt /Purlin | CL-87
12" Girt /Purlin | CL-88

ﬁ‘/ Purlin /Girt

1/2°0 x 1 1/4" A307 Bolt (Typ.) —=f

x Clip (Determined by Girt/Purlin _

Depth; see Chart) H Vapor Barrier to be
— Placed Between Clip
—/_Q:s and Girt /Purlin

Clip CL-85 to be Fastened —
to the Bottom of the Purlin
in Alignment with the Upper
Clip and Attached w/(2)

#2 x 11/2" TEK 5 Screws.

Section "A”

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

DRAWING NO.
Interior Girt/Purlin Flange Brace Attachment for Insulation SD1 61

Revised On : 01/04/18
Created On: 8/26/11




(4) #2 x 1 1/2"
TEK 5 Screws

CL-85

CL—85

/<nge Braces Attached at

Vapor Barrier to be
Placed Between Clip
and Girt/Purlin

Clip CL-85 to be Fastened
to the Bottom of the Purlin
and Attached w/(4)

#2 x11/2" TEK 5 Screws.

Locations Designated on
Rigid Frame Cross Sections.

ﬁ/ Purlin /Girt

Vapor Barrier to be

Placed Between Clip

-\[ and Girt /Purlin

1/2°6 x 1 1/4” A307 Bolt (Typ.)

Section "A”

Note: All connection bolts are 1/2" x 1 1/4” machine bolts unless noted.

DRAWING NO.

Interior Girt/Purlin Flange Brace Attachment for Insulation

Revised On : 01/14/24
Created On: 8/26/11

5D162




i\

Flange Braces Attached at

Vapor Barrier to be Locations Designated on
Slit for clip at Rigid Frame Cross Sections.
Girt /Purlin
+Clip Table
EVEEgT%Etglﬁggzliner panels 8 Girt/purln | CL=22
precut slits in liner panel 10,, G{rt/Purl!n CL-24
before hanging overhead. 12" Girt/Purlin | CL-34

ﬁ‘/ Purlin /Girt

1/2°¢ x 1 1/4” A307 Bolt (Typ.) — [

* Clip (Determined by Girt /Purlin 7
Depth; see Chart) A

Vapor Barrier to be
~ \[ Siit for Clip

il B

Section "A”

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

DRAWING NO.
Interior Girt/Purlin Flange Brace Attachment for Insulation SD1 63

Revised On : 02/08/24
Created On: 8/26/11




FIELD SLOT GIRT(S) FOR

3" THE ”X” BRACING.
MAX \
N\ // — é \
>
A ) — C_
o
N o~ \
DETAIL "A” \
DIMENSION 1
DIMENSION 2

FIELD SLOT GIRT(S) FOR
THE "X" BRACING.

>

CABLE OR ROD

NOTE: FIELD SLOT THE GIRT USING THE CORRESPONDING DIMENSIONS AS SHOWN ON THE
"FIELD WORK TABLE" ON THE WALL ELEVATION.

DRAWING NO.

5D202

Field Work Slotting for Bracing

Created On: 03/07/20




	SD21
	SD24
	SD25
	SD26
	SD30
	SD32
	SD33
	SD34
	SD36
	SD37
	SD38
	SD39
	SD42
	SD43
	SD43A
	SD44
	SD45
	SD46
	SD46A
	SD49
	SD51
	SD52
	SD53
	SD87
	SD93
	SD94
	SD95
	SD96
	SD122
	SD161
	SD162
	SD163
	SD202

